
3688 Midway Drive San Diego CA 92117  www.dotworkz.com                              (866) 575-4689 
 

# RP-D2ManualPK   
Replacement Manual Pack for D2:  
With Camera Mounting Bracket, Aluminum Stand-Off Kit, and Mounting Hardware Pack 
 
 

 D2 User Manual (1) 

 ½” I.D. Strain Relief Cable Gland IP67 Cable Entry Seal Port (1) 

D2 Component Checklist

1
2

3

4

5

11

12

13

14

15

6 7 8

9

10

16
17

Number QTY Description Type
1 1 Camera Bracket Mount Plate Aluminum

2 4 .5" Standoffs (8-32) Aluminum

3 4 .75" Standoffs (8-32) Aluminum

4 4 1.0" Standoffs (8-32) Aluminum

5 4 1.5" Standoffs (8-32) Aluminum

6 2 .25" Washer Stainless Steel

7 1 .25" Lock Washer Stainless Steel

8 1 .25"-20 3/8" Long Bolt (7/16 socket/wrench) Stainless Steel

9 2 #10-32 1/2" Long Screw (Phillips Head) Stainless Steel

10 2 #10 External Lock Washer Stainless Steel

11 2 #10-32 Hexnut Stainless Steel

12 4 #8-32 3/8" Long Screw (Phillips Head) Stainless Steel

13 4 #8-32 Hexnut Stainless Steel

14 4 m3-.5 1/2" Long Screw Aluminum

15 4 m3 External Lock Washer Stainless Steel

16 4 m3 1/8" Washer Aluminum

17 4 m3 Locknut Stainless Steel

Next Page 1 Axis231/232 Camera mount Plate* Aluminum

*ONLY for Axis 231/232 Specific D2 Enclosure


